
Lösungen im Buch Wochenplan 6 Klasse 2 

Buch S. 68 Nr. 3 

 1•5= 5 

 2•5=10 

 3•5=15 

 4•5=20 

 5•5=25 

 6•5=30 

 7•5=35 

 8•5=40 

 9•5=45 

10•5=50 

 

S. 68 Nr. 1 

a) 1•5= 5  

b) 2•5=10   (5 Finger +5 Finger) 

c) 5•5=25   (5+5+5+5+5) 

d) 9•5=45   (5+5+5+5+5+5+5+5+5) 

e) 6•5=30   (5+5+5+5+5+5) 

f)10•5=50   (5+5+5+5+5+5+5+5+5+5) 

 

S. 68 Nr. 2 

a)1•5= 5  b) 10•5=50    c) 10•5=50 

 2•5=10      9•5=45       11•5=55 

 3•5=15      8•5=40       12•5=60 

 4•5=20      7•5=35       13•5=65  

 5•5=25      6•5=30        14•5=70 

 

 

 

 

 



S. 68 Nr. 4  

a) 10= 2 •5  b)  5=1 •5   c)  45= 9 •5 

 20= 4 •5   15=3 •5     55=11 •5 

 30= 6 •5   25=5 •5     60=12 •5 

 40= 8 •5   35=7 •5    100=20 •5 

 

S. 68 Nr. 5 

a) 1•5= 5 b) 10•5=50 c)   9•5= 45  d)  4•5= 20 

 3•5=15   6•5=30    11•5= 55   8•5= 40 

 5•5=25   4•5=20    20•5=100   12•5= 60 

 7•5=35   2•5=10    40•5=200  16•5= 80 

 9•5=45   0•5=0   100•5=500  20•5=100 

 

S. 69 Nr. 3 

a) 1•10=10 b) 2•10=20 c) 4•10=40 d) 10•10=100 

 2• 5=10  4• 5=20  8• 5=40  20• 5=100 

 

S.69 Nr. 4 

a) 10=1•10 b) 30=3•10 c) 70= 7•10 d) 110=11•10 

 10=3• 5  30=6• 5  70=14•10  110=22•10 

 

 40=4•10  50= 5•10     100=10•10   80=8*10 

 40=8• 5  50=10• 5     100=20• 5   80=16• 5 

 

 20=2•10  60= 6•10     120=12•10   90= 9•10 

 20=4• 5  60=12• 5     120=24• 5   90=18• 5 

 

 

  

  


